Spring semester, 2024 Soonchunhyang University
Python Programming Department of Al and Big Data
Supervisor: Professor Byeongjoon Noh

Programming Practice 02

'ﬁ
=

=)

lop
o)
g

=2
(]
N
rgk
>
1A
>
)
ofy
>
i

o oA %

&
2IOFNA A=

1 o

2

>,

N

-
o

e

Enter an integer: 4

Output: Even

Enter an integer: 3
Qutput: 0dd

Enter an integer: 6

Output: Even

e oFOo= JAEE % (AA)

Enter an integer: 6
OQutput: 0dd # Incorrect

7 # input format is incorrect (need ‘Enter an integer: ’)

output: 0dd # ‘Output:’, not ‘output:’

Enter an integer: 6

OQutput: even # ‘Even:’, not ‘even’

Enter an integer:6

Output:even # no space after the colon ‘:’. space needed after the colon




PP02.1 AREAREH Al A JHEAL, O Bvs SYots Z2IHS st a. (2, B o
A olst AAAtE 7kA] FH i)

o A= A 1

Enter first integers: 5

Enter second integers: 7
Enter third integers: -1
OQutput: 3.667
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o A= A 1

Enter first number: 5
Enter second number: 7
Output: 49.0

e 459 oA 2

Enter first number: 0.2
Enter second number: 9

Qutput: 81.0

PP02.3 AMEARRH 7 s R, 20LS B85k QT 57} P4, 24, 0214 s}
E ERIRe AL,

o A=Y A 1

Enter a number: -8

Output: Negative

o A= A4l 2

Enter a number: 1.3

Output: Positive

o A= A4 3

Enter a number: O

Qutput: Zero
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Enter a number:

Output:

9

A multiple of 3.

SOES

AA] 2

Enter a number:

Output:

Not a multiple

5

PP02.5 AM8xt2 2 22}

a#e 2dstA L.

o A=Y A 1

Enter a number:

OQutput: Divisibl

12
e by both 2 and 3

[e))

L=

=9 A4 2

Enter a number:

Output: Not divi

8
sible by both 2 and 3

PP02 6 AMSAEZHE A (0-1003)S &ty 904 oA
152 42)

Fofote ZR2IHS

=
=

o AEH oA 1

2 8. (0-10074 9] gk 1

Enter your score: 97
Output: A

o A= dlA] 2
Enter your score: 89
Output: B

o A= A4 3
Enter your score: 56

Output: C

, I ZA7F 39] w1 A] ERlohs m2 g &}

3, T SeAY 29} 3 BER WRo] HojxE] Felshe TR

& A, 80301 904 mek B, 11 9] C




PP02.7 A4 H7b o g oAolE G2 B, W7l ok & 0Fdt SAS Gk 7t o 9
2O A 5 ubg BES Gk B RS AHgstel B4ol AF 242 245 2RI S FARRAL

Is it raining? (Yes or No): Yes
Is it afternoon? (Yes or No): No

OQutput: Maybe watch a movie instead.

o 929 4] 2 (Is it raining? o] Y Zko] 'No'dl vz, $4 AE lo] Hh2 Output )

Is it raining? (Yes or No): No

Output: Great day to be outdoors.

o U= oA 3

Is it raining? (Yes or No): Yes
Is it afternoon? (Yes or No): Yes

Output: Maybe read a book instead.

PP028 &4 (leap year) T BB Suct 517} o BE IS Wotel, 72 290] 209714
S o2 OJul @} GESL AR Lhiro] HolA#l gdo] g (20121, 20169), 1000 2 Lho] ol
Sl gido] ohth (190049, 21009). T2}, 40002 Lhiro] Holxli A §-ofi= o]} (1600, 2000
¥). o] 2702 BEsto] AgARRE GRS QYT Y 2A7E SEAA o] Wsle] Fst
n2 9L AR,

o 42 o4 1

Enter a year: 2023
OQutput: Not a Leap Year

e 459 oA 2

Enter a year: 2000
Output: Leap Year




Spring semester, 2024 Soonchunhyang University
Python Programming Department of Al and Big Data
Supervisor: Professor Byeongjoon Noh

Programming Assignment 01

Assignment 42718 th& 447k A 744

PA02_1 O|xPFAA aa? + ba + ¢ = 09| A A
w7 o]
o WA D =102 dac

o TEAl0] 091 49 F(multiple root), 0 271 -9 = 70| AT (real roots), 0BG 21749 5]

(imaginary roots)S Zt=tt.

e 2359 EH: /r = math.sqrt(z) (T2 13 71 9J9f ‘import math’ Y& & ALE)

Enter coefficient a: 1
Enter coefficient b: 4
Enter coefficient c: -12

Output: real roots

o A= A4 2

=

Enter coefficient a:

()]

Enter coefficient b:
Enter coefficient c: 9

Output: multiple root

o A=H A4 3

Enter coefficient a: 2
Enter coefficient b: 1
Enter coefficient c: 4

Output: imaginary roots

PA02.2 ZHE TtolA 54 A AHgA VL BSHE AL v Fashh A A Bl
F2 v 4314 UIE vl (bit mask)E G, 2 v ES] A thet gol ol

o QEZO|AMTE AWA ¥IE: ¢]7](Read) AT (o34 0001, H7 g 1)

o QEZO|ARE SHA H]E: 27](Wiithe) S (0115 0010, A% Zh: 2)




o QEZOJAFE AHA HE: A¥(Execute) @Rt (0]%14=: 0100, H714= FL: 4)

o QEZO|AMTE HHA ¥ E: B2| X} (Admin) A (o] 1000, H71 gh: 8)
A& =°l, AFSArS] A Atgkol 6 (o]X14=: 0110)0]2td, o= 7] Agt (0010)7 49Y At (0100)=
ZHA AL ok A ofnljith ARG At =R E1 ?ﬂa’}ﬂ% AR ez JERe AL 2 Qle BE
oS E9ote T2 WS 2ol L. ((Hint) HE 42 ANDE &8

o Y= A1

Enter the permission value (decimal integer): 6
Output: Permissions: Write Execute

o A= AA] 2
Enter the permission value (decimal integer): 12
Output: Permissions: Execute Admin

o A= A4 3
Enter the permission value (decimal integer): 14
Output: Permissions: Write Execute Admin

o A=Y A 4
Enter the permission value (decimal integer): 3

Output: Permissions:

Read Write
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PA02.3 AA Z(second)E Yt
293 Ao EA S,

o QJ=HhE % (second)= Fo] A4=oltt.

o S &= XZ(second)?] I7]= 59 o|sto{of gttt

o S &= F(minute) 9] F7]= 59 o|stofof gttt

o A EE0] 90| 4504 ¢l A$, =28 1 hours 15 minuts 4 seconds’®} Zro] LrepAct.
o A=Y oA 1

2E A|(hour), E(minute), Z(second) 2 H2}5}to] =

Enter total seconds: 12345

3 hours 25 minutes 45 seconds

o A= A4l 2

Enter total seconds: 5
O hours O minutes 5 seconds




PA02_4 H|E 4z ANDE &8s5hd =
Juty, H|E AA4A ANDE &85t g 4

A HA Q.

o A=Y A 1

Enter an integer: 71

Qutput: 0dd

o A=Y A4 2

Enter an integer:

Output: Even




PA02 5 A& o] Z2](Zeller’s congruence)2 ©]-&5HH AX o} LS E5) st R U A1ZFad (192 %)
ke % Slek. g o, 2023 9] 1290] A2 e Fadolet. of2f BALE FTelel AHEAZIT
Ao} 98 AL, AFeUS Bk T2 AL HHARAL.
e Zeller’s congruence?] £ h = (1 + {13(?“% + K + L%J + L%J + 5J) %7
o b 8902 Uehiinl, AZRde DEE 0-ERY, 1=9a Y, 2=982), . =285 2ol v}
e
e me Y(month)o]nl, 395 149 (193} 298 247} Tt #9] 1397 149 He))S Lepac)
e month®] He|= 1495 ¥ 124 o|r}.
o K QR ope F Afaldoltt
o JE Amo] o FAbe] ol

o | A4 %9 floor Q4tolc},

U= AA 1

2023
12
Friday

Enter year:
Enter month:

Output:

. 42 4] 2

2024
8
Thursday

Enter year:
Enter month:

OQutput:




